
Lecture 17 - March 18

Binary Search, Merge Sort

Binary Search: Tracing, Running Time
MergeSort: Ideas, Java, Tracing



Announcements/Reminders

• Assignment 3 (on linked Trees) solution released
• WrittenTest and ProgTest1 results & feedback released
• ProgTest2 guide & example questions to be released
• Makeup Lecture (on Queues) posted 
• Lecture notes template, Office Hours, TA Contact
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binarySearchH(a,0,8,18)
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Binary Search: Tracing
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Binary Search: Running Time
Running Time as a 
Recurrence Relation
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Running Time: Unfolding Recurrence Relation

T(0) = 1
T(1) = 1
T(n) = T(n/2) + 1

Assume without loss of generality :
n = 2 for X0
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Merge Sort: Ideas
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Merge Sort in Java
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Merge Sort: Tracing
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